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1 Uwpwupubp
33000000 (HEnnpuwip b wwwnyjwuwnmwiniebp
33671125 |Udppnpun; 0.03N20 c< wintth 10
33621740 |Udinnhwhtu 10dg N30 c< wnuh 10
33622000 |UnpLuwihuh h-n wdw. 0.18% N10 c< wintth 5
33620000 |Upphwin; 100dq N10 c< wintth 5
33611130 [Uwpnwht 0.1% Tml N10 c< wnuh 10
33621420 |Uwnnpwuwnwwnhu 20dg N30 e< nnuh 2
33650000 |Uqnhdwl 500d0q N3 < wnuh 2
33621000 [Ulwndtight 400dq 104] N5 c< winih 5
33651111  |Udnpuhghihtu 500dq N20 e< nnuh 10
33651111 |Udnpuhghiht 250dgq N10 e< nnuh 10
33651100 |Unwgdbuwnhtu 375dq N20 e< nnuh 2
33651100 |Unwgdbuwnhu 625dg N14 e< nnuh 5
33651100 |Udwh $pyn 500ug N10 c< wnuh 10
33622200 (Udwphjwu 10dq N30 c< wninuh S
33660000 | Ulw|ght 50% 24 N10 z< wnih 40
33611350 |Uuynpphuwepent wdw. 5% 2d; N10 c< wninuh 10
33660000 [Uuyndhu Upthh N10 e< i 100
33621100  |[Uuwhphu Yupnhn 300dq N20 c< winih 10
33671000 |US33 n/thnoh 200ug N20 c< wnuh 5
33651100 |Ughepndhghu 250dq N6 < nnuh 2
33660000 |Uwnwpwpu 25dg N25 < nnuh 5
33651112  |Udnpuhljuy n/p 156.25dq/5d] 1004] < nnuh 5
33651110 [Unwqdbiunhu n/p 156.25dq/54) 1004; e< i 5
33611341 [Upqwntinphd yhwn.D3 104; c< wnu S
33670000 |UyJw Uwphu dwulwlwu 10d] < nnuh 10
33631282 |Ptwwnhu htipiing. Undhly 200dq N14 < nnuh 3
33621720 |Phunuwpnin| 5dq N30 c< wnuth 3
33613000 |Phuwlnnh; dndhly 10dg N10 c< winuh 3
33621000 |Ptpihwnh| wynw10dg/25dq N30 c< wint 5
33621000 |Ptipihwphy 10dg N30 c< winuh 5
33671000 |Ppndhbipuhtu 8ugNS0 c< winuh 10
33671000 |Ppnufunihinpt o). c< wintth 25
33650000 [Pwlwphd 09.2400q/5d] 100d; c< winuh 25
33620000 |PLwnwubiny 24ug N60 c< winth 2




33691138 |Gynlynqui 5% 2504 &< wnnuth 15
33675000 |"Hhdbinpnp 1% 1.0 N10 c< wnntth 40
33621600 | thpwqny 1% 14 N10 c< wnih 20
33621600 |thpwgnp 1% 54 N10 c< wnuh 10
33621380 |“Hhgopupu 0.25dq N40 c< winth 3
33631310 |hlyndkiul 50uq N100 c< wnith 10
33691121 |Mhwphu 150ug N1 c< wnuh 20
33631310 |“thyindbuwl wdyy. 75dq 3d] N5 c< wnuh 6
33660000 |"Hsyuwyight 25dq/d) 24| N1 e< winuh 30
33611000 |Yhudjuwnpy 30Uy c< wnuh 5
33631310 |Injkpu 2u) N5 c< wintth 3
33691100 |Yhwiqnihit Uppw 0.1g N10 c< wnuh 3
33631310 |“+hynu dndhl 50dg N10 c< wnuh 20
33620000 |“Fhghunu wdw. 250dq 24 N10 c< wntth 8
33620000 |“nwtighwn 250dg N50 c< wnuh 5
33611170 |“Hinuwybtiphuh h/p 40dg N20 (4 wnuh 5
33611170 |“Fpnwnwybiphuh h/p 20dg/d) 2d] N10 c< winth 10
33622200 |“Hhjwuwnpbun 6.25d0q N30 c< wint) 2
33622200  |"Hhjwunpbun 12.5dq N30 c< wnuh 1
33671000 |“Fnlwinp dnd op. 1004; c< wint) 20
33620000 |“hwnpwitipu 500dg N60 c< wnuh 5
33622000 |Hhpnunnu 10dg N56 c< wintth 1
33610000 |“Hnidwjwl 0-Y c< wnuh 3
33650000 |RbLuwnk 400uq N1 e< unntth 3
33631287 |2hpwnbl 10dg N7 [el4 winuh 2
33670000 |Enchhihu 24dg/d; 5.0 N10 c< wintth 40
33621520 |Euwjwuphy -<L N20 e< winuh 4
33621520 |Euwjwuwph| 20dg N20 c< winth 3
33620000 |Euwuw -H 10dqg N20 c< winuh 2
33621000 |kubkughwit $npwnk 300dq N30 c< wnuh 1
33621000 [kubughwib wdw.50) N5 o< ninu 1
33620000 |Eghiny nbunwpn n/h 100dg N30 c< wnuh 1
33642230 |Enyshpnpu n/h 50dq N100 e< nnuh 1
33642230 |fdhpngn] S5dg N50 c< winth 1
33631290 |Ppniwypndku 0.2q N50 c< wnuth 5
33631290 |Ppnidkl opwpuly 100U c< winuh 5
33691129 [Pnuin Skp |-p 500u] c< wnih 5
33630000 |Punnubtuwiwught punip c< wintth 1
33622000  |Lhqhunwnhj 5uq N24 (23 nnuh 5
33620000 |Lhqhunuyphy 10ug N30 c< wnu 3
33642230 |L-phpnpupu 100dg N100 e< unntth 5
33611000 |Lhutipu N16 c< wnu 5
33611000 |Lhubipu dnpint N28 c< wnuth 1
33611200 |Lnwbpwdhn 2dq N40 c< winth 2
33620000 |Lhnunu 1000gk) c< wnuth 1
33620000 |Ynpduyn; 2541 c< winty 10
33621690 |Ywpytinhn) 12.5uq N40 c< winuh 1
33621690 |Ywpybinhin| 25dq N40 c< wintth 2
33621690 |Ywnpytinhin; 6.25dq N40 c< winuh 3
33620000 |Ywpnhybwn Nhnwpn-40 N50 c< winuh 2
33621510 [Ywuwnwph) 50dqg N24 c< wintth 10
33621510 |Ywwnwph) 25dg N40 c< wintth 10
33620000 |Ywpnhndwquh) 75dq N100 c< wint 5
33620000 |Ywpnhndwquh) 150dg N100 c< winth 10
33660000 |Ybtiwnuw| 50dqg N25 c< winth 5




33660000 |Ybkiwnnuw ntwwpn 150dg N20 c< winth 5
33620000 |Ynpnwpnu 200dg N30 c< wnuh 2
33620000 [Ynpnhwdhu wdw. 25% 2d) N10 c< wnntth 30
33621340 |Y4ndbtihu -uwwnphnidh pbugnuwwm wdw. 10% 1d; N10 c< wnuh 30
33661117 |Ywuwdwfunuinh hwuntyN50 c< winth 25
33650000 |Ywdnpwl 1q |-ny c< nnuh 5
33620000 |4nuynp Sdg NS0 c< wntth 4
33620000 |Ynulynp Ynp 2.5dq N30 c< wnuh 5
33611420 |Ywghnwh gyniyntwwn 10% Sd; N10 c< winuh 5
33620000 |Ynywppopuhjwquw wdw.50dq 24 N10 c< nnuh 1
33610000 |Yntinu 25000 n/uy N20 c< wint) 1
33691175 |Yhnu D 100dg N10 c< winuh 2
33611420  |4wgh D3 dnpnt 500dq/400ME N120 c< wntth 1
33630000 |Y4buwnhu 20dq N10 c< winuh 1
33620000 |Ywyhuwnu $npwnb n/h100dg N30 e< winuh 1
33621320 |<wpybh hwunty 19 N10 c< wint) 2
33631220 |<hnpnynpunhgnt punip 1% 15q c< wnuh 2
33660000 |Utpuhwphd 2d; N10 c< winuh 1
33660000 |Utipuhynj 100udq/ 2u) N10 &< wintth 1
33621700 |Utkwnwpnng 50uq N30 c< wint 3
33631286 |Uhlntwqny u-p 2% 15q c< wninuh 2
33611341 [Uwgqlh B6N50 c< winuh 3
33691145 |Uwaqubghnudh unydwwn 25% Sml N10 c< wnuh 3
33611000 |Utighd $npwnk N20 c< wint 5
33620000 |Uhjqwdw 24) N5 c< wnuh 2
33620000 |Utiquunnu 1%1d) N10 c< wint 5
33611170 | Lny-owuw 40ug N100 c< winuh 10
33691136  [Lwuwnphnudh pinphn - 0.9% 2504; c< winuh 5
33691136 |Lwuwphnuwh pinphn |- 0.9% 54) N10 c< wnuh 50
33620000 | Uhuwpngihgtiphtu 0.5dg N40 c< wintth 10
33691100 |Unynlwjht wdw. 2% 2d) N10 c< wintth 10
33660000 |Unjhwnb Ph-dnpnt 10dg/2.5dq N30 e< nnuh 5
33660000 | Unjhwnt] Upghuhtu $npwnbk N30 c< wintth 5
33660000 |Unjhwpb; Upghuht N30 c< wintth 8
33691144 |Lwuwphnuh phnunydwn 30% S5d; N10 c< wintth 3
33610000 |Lwphut N120 c< winuh 5
33620000 |ULbphitin N28 c< winth 5
33650000 |Unipndbu dwul. 100dg/54; c< winth 10
33661200 | Uhdbuh| 2g thnoh N30 c< wintth 5
33620000 |MpLuwnwuu 10dg/10 N30 c< wnuth 2
33620000 |Mpbuwnwuu 5dg/5 N30 c< winth 10
33620000 |Mptuwnwphnud 5dg N30 c< wintth 3
33620000 | MpbLuwnwphnd 10dg N30 c< wintth 3
33661122 |TMwpwgbwnwdn] 0.5dg N10 c< winty 120
33661122 |[TNMwpwgbunwdn| 02.60d] &< winuh 30
33661000 |MNMbpubu n/h N40 c< winth 3
33661000 |MNbtpubtiu dnpwinb N20 c< winuh 3
33691186 | Mhpwgbitnwd n/y 0.4 N10 c< wnuth 10
33622200 | Mptinnilyuwg UM 350 N60 c< wnih 5
33620000 |Nhupwntl 200q N14 c< wnuh 5
33611000 |Uwnuy nhwn o9- c< wnih 5
33691100  |Uwwquwignti 20N10 c< wnih 5




33691210  |[Uwpn$uwiinhu S 14 0.0025% N10 €< wnnih 5
33671113  |Uwjpnunwdng 2dg  N24 c< winuh 15
33671113  |Uwjpniinwdni 0. c< wnih 25
33620000 [Undwghuw wiw. 500dq N5 c< wnuh 1
33650000 |Uwnptiwwnndhght n/thnoh 1g c< unntth 5
33620000  [Uny$nlwidpnlwihti wdwy. 10% 2ml N10 &< wnnup 20
33640000  |Unuypwunht n/h 25dq N20 c< wnth 10
33640000 |Unwypwuwnht wdw. 1d] N5 c< wnih 30
33611000 |Udblunw N30 e< wnih 5
33620000 |dwihnn| 0.06gN10 e< unnuh 100
33611341  |Yhlwung 10dg/1dN10 c< wintth 2
33621730 |dbpwuwdhy 80dg N30 c< winuh 5
33611341 |[Yhwwdhtu P Ynduytipu npwdtb N20 c< winuh 10
33611341  |dpwnwdht A hwdwihp 20 N10 c< wnih 10
33631310 |dnpnwpbu punip 20.0 c< nnup 3
33661000 |Ydnjinwnbu 75dq/3d] NS c< wintth 2
33661000  |dnpnwnb bdnygbi 20q c< wnth 2
33620000 |4Ybtpnpwhpnu 50ug N30 c< winuh 10
33620000 [Jbuubi Fnib$ widw. 600LU/24d; N10 &< wnip 1
33620000 |Ywnlwpnht 204 c< winuh 5
33661200  |dnipnnu n/h 100dq N10 c< wnup 2
33621420 [Uwinpqwuwnhu 10dg N30 c< winuh 3
33691100 |Skdwwighu N20 c< wintth 25
33621100  |Sphuwnwy wdwy. 5dp N5 c< winuh 5
33691100 [Swybigh| Tdg N20 < wnuh 20
33691100 |Swybigh) wdw 0.2% 2ml c< wint 2
33660000 |SpGuwnwy n/h 400dg N20 c< winuh 5
33651116 |3bLdwqnihu 1g c< wintth 120
33651118 |Sbtduinphwpunu 1q c< wintth 120
33651134  |Shwpn$npuwght 250dq N10 c< wnuh 5
33651134  |Shupn$inpuwght 500dq N10 c< winuh 5
33651134  [Shupn$inpuwght 0.3% |- 10 d] wsph Ywehy c< winuh 5
33610000 |RJwdwwnt) 40dq N14 c< winuh 10
33610000 |RJwdwwnb) 20dg N28 c< wintth 10
33611100  |Odbwpwgn n/w 20ug N30 e< wnuh 20
33650000 |Oujwntipu 5004; c< wintth 1
33651150  [Dyniyntiwgn) 150dq N1 &< winth 5
33650000 |Dnipwyghu 22hYy S4; c< winuh 5
33611120 [Sbwdnwnhnhu 20dg N20 c< winuh 3
33611120 [Swdnwhnhu 40dq N20 c< nnuh 5
33621590 | dnipnubidhn 400dg N50 c< wintth 5
33620000 [dbpnud bl 07.1004; c< nnuh 3
33620000 |bhghnuntiug 0.4 N14 c< wintth 3
33671000 [Djwywdbn 0p.15dg/u; c< nnuh 5
33671000 |Udppnpun| 07. 15dq/54] 1004 c< winuh 5
33631000 |[djnighuwp punip 15 c< winuh 3




33620000 |dbipnud (LY 100dg N30 c< wintth 5
33621590 | Ddnipnubtidhn wdwy. 1% 2d) N10 c< wntth 20
33631260 |jnn5% 30 J| c< 2h2 20
33612000 |Rpwduh whipopuhn 3% 1004d; c< 2h2 60
33695000 [Qtinung wiunmwhwudwd S N100 PLUL unnuh 5
33140000 [UYynw-skl PLUL wnuth 20
33141117 |pwdpwl PLUL hwun 40
33141114 |ppuw 5/10 PLUL hwin 120
33141114 |phuwn 5/10 wfuwn. PLUL hwun 120
33141114 |pphuw 7714 POUL hwwn 60
33141114 |phuwn 7/14 wjuwn. PLUL hwwn 60
33141310 |Ubpwplyps 1,0 PLUL hwun 100
33141310 |Ubpwnlyhs 2,0 PLUL hwun 120
33141310 |ULtipwplhs 5,0 PLUL hwun 300
33141310 |ULtipwplhs 10,0 PLUL hwun 120
33141314 |Ubkpwnyhs 20,0 PLUL hwun 120
U2fuwwnwip

79810000 |Swwagpnipiniu (pdo2lwlwlw duwenrbn) PCUL | 2wihwp-u 1
50800000 |Cupwghl yGpwunpngnid PCUL | 2wihwp-u 1
3. Ownwjnipjniu

65210000 |Puwlwu qwgh dwunwlwpwnpnid PCUL | 2wihwp-u 1
65310000 |ELlyunpwtubpghwih dwnwwpwpnud PCUL | 2withwp-u 1
64211000 | Hhpuywd hbinwhunuwljuw PCUL | 2withwp-u 1
32412110 huwnbpubunwiht juwh npwdwnpnud PCUL | 2withwp-u 1
65111000 Fudbnt oph Jwunwlwpwnpnid PCUL | 2withwp-u 1
64121100 Pnunwihu Swnwjnieintu UL |2withwp-u 1
66110000 |Pwuljwjhu Swnwjnypintuubn PCUL | 2withwp-u 1
98300000 |Pdoywlwu gnpdniubinipjwl |hgbuquynpdwt gnidwnplPCUL | 2withwp-U 1
72514300  |<wdwlwngswihtu inbfuuninghwubiph b dpwgpwiht w{PCUL | 2withwp-U 1
50311120 Lwdwlwngswiht uwppbph wwhwwudwt U JepuunpPCUC | 2uithwp-U 1
80511000 |Yhpwuwjwuinpwundwt U nungdw dwnwjniejntu PCUL  [2wihwp-u 1

GpEuwwu yhwnnypubp b gpuubujuluihu uynptp

22851100 |(enpwwwuwy wpwguwlwp PCUL  |hwn 25
22850000 |wpwaqwlwp pnpjw yupnyh PCUL  |hwwn 30
30197331 |l PCUZ  [hwwn 1
30197323  |Ywnphs (unbuybin) PCUL  |hwwn 2
30199420 |Uonuwiubiph pnine PCUL  |hwwn 10
39263510 |ubindwy thnpp PCUL  |hwwn 20
39263520 |ubndwl Uhohu PCUZ  [hwwn 25
30197120  |Yntqud PCUL  |wintth 5
30197111 Yuwphsh dbnwnuwpt Yuwbip thnpp PCUL  |wintth 20
30197112 Ywphsh dbnwnuwwpb uwtip dhohu PCUL  |wintth 10
30141000  |<wgyhs dbpbuw PCUL  |hwwn 1
30192123 | pndwuwnbip PCUL  |hwwn 5
24911400 Unupué PCUL  [hwwn 50
30192130 Uwuwnhwn PCUL  [hwwn 40
30192100 Ntiwnhu PCUL  |hwwn 25
30192122 |9y POU<  [hwn 120
30192123 |9y POU<  [hwn 150
30192128  |Y9nhs, ghjwihu PCUL  [hwwn 40
30199232 |Opwp POU<  [hwn 25
22815000 |Skun PCUL  |hwwn 40
22815000 |Skun PCUL  |hwwn 50
30125110  |[Rwwnphsh thnoh, wphuwnbiph ubipy PCUL  [hwwn 4
30234630 |2 POU<  [hwn 2
30199792  [opwgnuyg PLUL  [hwwn 5
39292510 |Rwunu PCUL  |hwwn 25




30192114 Mbswwnh pwuwp PCUL  |hwwn 4
30192111 Mbswwnh pwnshy PCUL  |hwwn 2
30192114 pwlwp PCUL  |hwwn 2
30192160  |Ruohs ownphfu PCUL  |hwwn 60
30199410  |fenine hupuwlwsniu PCUL  |hwn 30
30192000 |Pinjyunwn PCUL  |hwwn 10
30197231  |[Duwy PCUL  [hwwn 500
30192760 |Uphs PCUL  |hwn 15
30192125 Uwpytip PCUL  |hwn 10
30197631  |fdnwnpe gpbint PCUL  |hwwn 25
Jwnbjwuynye
9132200 PLughu MNhgniyjwnp PCUL  |(hwip 1610
Suwnbuwlwu, uwuhhgtuhy b |ugph dhongubip
39831242  [Lwgph vhong «BINGO» PLUL  |uintth 30
39831241 Otwn &binph (100 q) / unynpuwG / PLUL  |hwwn 40
39831244  |OGwn nGunbuwlw (100 q) PLUL  |hwwn 30
39831244  [Otwn nGunbuwlywa PLUL  |hwwn 40
39831245 [3tinnty otwn PLUL  |hwwn 15
39831240 [Uwhwwybglnn hbnny / dwyby / PLUL  |hwwn 25
39832000 [UvwhGEpp (Jwgiwl dwéney FCUL  |hwn 15
39831600 [Lywgnn, dwppnn thong PLUL  |hwwn 25
33761000 [@nLnp gniqupwlh PLUL  |hwwn 120
39513200 [UG&Lnnghy pnpjw FCUL  |hwn 35
39525800 [®nphG dwpnbint gnpdywépltin / plong / PLUL  |hwwn 25
39224330 |y wiwuwmdwuwihg /5 |/ PLUL  |hwwn 5
39220000 (Lywgph pwu, wjwuwndwuwjhg PLUL  |hwwn 2
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